Grandview

All in one Recessed Motorised Screen
(IP Control)
Installation Manual

MODEL:

GRIPRC92H GRIPRC102H GRIPRC112H GRIPRC120H GRIPRC130H
GRIPRC94C GRIPRC103C GRIPRC110C GRIPRC120C GRIPRC130C

AMber TECHNOLOGY- ambertech.com.au amber.co.nz




Accessories Pack(s)

W Left Decoration cap*1 pcs M Right Decoration cap*1 pcs B M5*10 Cup head machine screw
(with control panel) with cover (4 pcs respectively)

R0
B Ceiling bracket*2 pcs B M5*10 thumb head screw*4 pcs B M4 hexagonal adjuster key*1 pc

!

B IR remote control emitter*1 pc M Power cable with plug*1 pc B Qualification certificate*1 copy
B Manual*1 set

W Warranty card* 1 set

Optional Accessories

B M8*500 extended bolt*2 pcs W M8 nut*8 pcs, gasket*8 pcs B D8 Spring gasket*6 pcs
r: )
©

B M8*60 expansion screw(4 pcs) W Hook*2pcs B EXTIR receiver*1 pcs

T

B Wall switch*1 pcs W 12V trigger wire*1 pcs B RF power-sync emitter and
(low voltage dry contact control) RF converted to IR receiver*1 set




Operation Instruction

Installation plate

Limit adjugting

Fabric

Fabric rod
integration

"

Cikcle button

Signal regeiving
window foxJR control

lower limit adjusting hole




Framework and Dimension

Ht=H+B2+B3

Ld2+14

Lz=L-100mm

L Check to details C

(-40_

“ﬁ — Mounting hole-1
b— Mounting hole-2
% — GND hole
15 2 B Power cable
— =
% @ L —Mounting hole-3
= :
33(reference range ; ——
DefOilS A changed according De'(]iIS B ° Detoils C

to height of fabric)

135

Installation distance: Lz=overall length(L)-100mm
Ceiling-cutting dimension: length (Lt)=overall length(L)-20, 115mm in width, 122mm plus in height

Specification Viewing Area L A Lz Ld2 B1 B3 Package
Format Hills Code
ClInch) WxH (. mm) (mm) (mm) (mm) (mm) (mm) LxHxW(mm)

16:9 GRIPRC85H 85 1882x1058 2202 1841 50 30 600 2232 x 215 x 215
16:9 GRIPRC92H 92 2032x1146 2352 1929 50 30 600 2480 x 215 x 215
16:9 GRIPRC102H 2258x1270 2578 2053 50 30 600 2700 x 215 x 215
16:9 GRIPRC112H 2479x 1395 2799 2178 50 30 600 2928 x 215 x 215
16:9 GRIPRC120H 2656x1494 2976 2277 50 30 600 3106x 215 x 215
16:9 GRIPRC130H 2878x1619 3188 2402 50 30 600 3328x 215 x 215
16:10 GRIPRC94C 2025x1265 2345 2048 50 30 600 2475x 215 x 215
16:10  GRIPRC103C 2219x1387 2539 2170 50 30 600 2600x 215 x 215
16:10  GRIPRC110C 110 2369x1481 2689 2264 50 30 600 2719x 215 x 215
16:10  GRIPRC120C 120 2585x1615 2905 2398 50 30 600 3035x 215 x 215
16:10  GRIPRC130C 130 2800x1750 3110 2533 50 30 600 3250x 215 x 215

Electrical data: AC220-230V/50-60Hz, 0.48A, 115W.
Any change on function, structure or specification is without prior notice due to improvements on the product.
Please refer to the specific product included.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

